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Mean radial wind(m/s), HR033
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Mean radial wind(m/s), HR036
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Mean radial wind(m/s), HR039
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Mean radial wind(m/s), HR045
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Mean radial wind(m/s), HRO51
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Mean radial wind(m/s), HR0Q57
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Mean radial wind(m/s), HR0OB3
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Mean radial wmd(m/s HRO69
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Mean radial wind(m/s), HRO81
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Mean radial wind(m/s), HR0S6
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Mean radial wind(m/s), HR108
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Mean radial wind(m/s), HR111
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Mean radial wind(m/s), HR114
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Mean radial wind(m/s), HR129

4300 A
o
AHIE o
0 ;ﬂ
0 20 40

MIN=—1EB.37E6 MAX=16.6915

—

DdF___J-

P—

80 80 100 120 140
Distance from center (km)

—1a

-1z

—14

16



Mean radial wind(m/s), HR132
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Mean radial wind(m/s), HR135
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Mean radial wind(m/s), HR138
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Mean radial wind(m/s), HR141
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